

it's a local minimum

and $f: \mathbb{R}^n \rightarrow \mathbb{R}$ and $\nabla f(x) = 0$

~~if~~ $f(x) = f(y) = c$ and $\nabla f(x) = \nabla f(y) = 0$

$\nabla f(x) = \nabla f(y) = 0$

$f(x) = f(y) = c$

$\nabla f(x) = \nabla f(y) = 0$

(1)

$\nabla f(x) = \nabla f(y) = 0$

(2)

$\nabla f(x) = \nabla f(y) = 0$

$f(x) = f(y) = c$ and $\nabla f(x) = \nabla f(y) = 0$

$$|f(t, x)| \leq C_2 |x| + |f(t, 0)|$$

$$t \in \mathbb{R} \quad A/x \in \mathbb{R}$$

$$\int_t^0 |f(\tau, y(\tau))| d\tau \leq |y(0) - y(t)|$$

$$\int_t^0 |f(\tau, y(\tau))| d\tau = |y(0) - y(t)|$$

$$y \in B_{\infty}(y_0) \quad \overline{\text{into}}$$

on $B_{\infty}(y_0) = \{y \in C([0, T]) : \|y - y_0\|_{\infty} \leq r\}$ in construction

$$M(y)(t) = y_0 + \int_t^0 f(\tau, y(\tau)) d\tau$$

$$F: B_{\infty} \rightarrow C([0, T]), y \in C([0, T]) \Rightarrow F(y) = C(I)$$

(2)

$$|m/y(t) - y_0| = \int_t^0 \left[c_n \frac{H^{1/2}}{H^{1/2}} + H(t, 0) \right] dt \quad (3)$$

~~nothing I small can Assm~~

~~$$|y/2 - y| = 2R.$$~~

$$|y(t) - y_0| = n$$

$$|y(t) - y_0| = |y_0| + n$$

$$|m/y(t) - y_0| = \int_t^0 \left[c_n \frac{H^{1/2}}{H^{1/2}} + H(t, 0) \right] dt$$

$$= c_n \frac{H^{1/2}}{H^{1/2}} + H(t, 0)$$

$$+ T \text{ s-p } H(t, 0) \text{ offset}$$

$$2P(2/k - (2/l^k)) \int_0^1 [y + 10^6] dy =$$

$$2P(2/k, 2/l^k) (2/l^k, 2/l^k) \int_0^1 \frac{1}{1 + (1/m - 1 + l^k/m)} dy =$$

$$2P(2/k, 1/l^k) \int_0^1 [2/l^k] dy = \frac{1}{1 + (1/m - 1 + l^k/m)}$$

continued fraction

$$c_n((y_0 + n)T) + T \int_0^1 f(t, 0) dt = R$$

* $s \sim f$.

$$+ T \int_0^1 f(t, 0) dt$$

$$s \sim \int_0^1 \frac{1}{1 + (1/m - 1 + l^k/m)} dy = c_n((y_0 + n)T)$$

(4)

$$\|m\|_{L^1} = \|m\|_{L^1} + \|m\|_{L^1} = \|m\|_{L^1} + \|m\|_{L^1}$$

$$\text{want } C_{y_1+n} \leq \frac{3}{4} \quad *$$

Maximal solutions
~~Example~~
 (initial value) y_1

f satisfies cond A.
 $y'(t) = f(t, y(t)) \quad 0 \leq t$
 $y(0) = y_0$

Below up Alternative
 of the following holds:

① $y \in C[0, \infty)$ solves interval
 formulation of (3)

② $\exists \text{ a } \alpha \in \mathbb{R} \text{ s.t. } \alpha \in \mathbb{Q} \cap \mathbb{R}$

shows integral formulation of (3)

$\exists \delta \in \mathbb{R} \text{ s.t. } |y(t)| = \infty$

example of blowing up solution

Joining two solutions

$$\begin{aligned} & \left\{ \begin{aligned} & y(1) = y(1) \\ & y(1) = f[y(1)] \end{aligned} \right. \\ & \left\{ \begin{aligned} & y(1) = y(1) \\ & y(1) = f[y(1)] \end{aligned} \right. \end{aligned}$$

$$\begin{aligned} & \left\{ \begin{aligned} & y(1) = y(1) \\ & y(1) = f[y(1)] \end{aligned} \right. \\ & \left\{ \begin{aligned} & y(1) = y(1) \\ & y(1) = f[y(1)] \end{aligned} \right. \end{aligned}$$

⑦

then z done

$$z_{i+1} = f(t, z_{i+1}) \quad 0 \leq t \leq T$$

$$z(0) = y_0$$

idea keep joining the solutions.
NEED some set of trajectories ideas

to do.

Aside
~~the~~ family of
or subintervals

for $x \in [0,1]$ s.t.
 $\exists y \in (x,1)$ s.t.
 $(x,y) \in \mathcal{C}$.

then a countable
disjoint subfamily

$$f(x) = (x,1) = [0,1].$$

Maximal solution Via Zorn's Lemma

Zorn's Lemma
A partially ordered set

containing upper bounds for each chain, contains a maximal element.

Recall we are solving

$$\begin{cases} y'(t) = f(t, y(t)) & 0 \leq t \\ y(0) = y_0 \end{cases} \quad (1)$$

let ϕ denote the collection

of $(y, [0, T])$ that satisfy (1)

$\exists y \in C[0, T] \quad \{ y \text{ solves (1)} \}$

Given $(\gamma, [0, \tau]) \in \mathcal{G}$ and $(\tau, [0, \tau]) \in \mathcal{G}$

we say

$$(\gamma, [0, \tau]) \leq_q (\tau, [0, \tau])$$

partial
order

$$\tau \leq \tau \quad \gamma(1) = \tau(1) \quad 0 \leq \tau \leq \tau$$

Then $\mathcal{G}(\mathcal{G}, \leq)$ is partially ordered

or derived set.

$$\text{let } \{(\gamma, [0, \tau]) : \alpha \in A\}$$

denote a chain (a linearly ordered set)

$$\text{if } \alpha, \beta \in A$$

we have

$$(y_a, [0, T_a]) \leq (y_b, [0, T_b])$$

or vice versa

NEED TO find an upper bound.

$$[0, T] = \bigcup_{x \in A} [0, T_x].$$

For $0 \leq t < T$ $\exists$ fix $a \in A$

$$t < T_a \quad \text{so } t \in [0, T_a]$$

Doesn't matter which we choose by uniqueness

$$y(t) = y_a(t).$$

Claim 13

$$(y, [0, T]) \text{ is upper bound for chain.}$$

110

By Zorn's Lemma $\exists$ maximal element $t \in \text{som } Y \in C(CO, T)$

which solve ODE $\phi \in \mathbb{R}^n$

$z \in C(CO, T_0)$ solve ODE ~~use~~

have $T_0 \leq T_*$

(50 no way to extend past T)

Assume $T < \infty$

Need to show

$\lim_{t \rightarrow T^-} |y(t)| = \infty$; $\in \mathbb{R}^n$ $\rightarrow T$

$|y(t_n)| \rightarrow \infty$

$$\exists c > 0 \quad |y(t)| \leq c.$$

$\sqrt{100}$
 S-prove not, then $\exists t \rightarrow T$

Now cons-der the cdf

$$F_{\frac{Z}{2}}(t+1) = P\left[t, \frac{Z}{2}(t+1)\right] \quad t_n \leq t \quad (n)$$

$$F_{\frac{Z}{2}}(t+1) = Y(t+1) = y_n$$

By local existence $\exists d_n > 0$

s.t. we can solve (n) on

$[t_n, t_n + d_n]$. Idea is to show

d_n bounded from below,
none for n large we have

$$t_n + d_n > T.$$

But for we can jump the
the solution to get a

~~प्रश्न का मसौदा~~

I depends on R
 go back to 100%
 at existence;
~~in~~ C_n

Contradicting Z_n need to derive
 maximality of define partial

$$Y(0) = Y_0$$

$$Y(1) = f(t, Y(1))$$

Solution of

$$0 \leq t \leq t_{\max}$$

(12)
 [Signature]

Chapter 3

Second order linear

equations.

3.1 Homogeneous second order constant coefficient ODE's.

$$a \neq 0 \quad a, b, c \in \mathbb{R}$$

$$(1) \quad ay'' + by' + cy = 0.$$

Look for a solution of the form $y(t) = e^{rt}$ to be determined.

$$0 = ay'' + by' + cy = a r^2 e^{rt} + b r e^{rt} + c e^{rt} = e^{rt} [a r^2 + b r + c]$$

(14)

so $y(t) = e^{rt}$ solves (1)

if r satisfies the associated characteristic equation

$$ar^2 + br + c = 0$$

(15) $y''(t) + y'(t) - 2y(t) = 0$

Find some solutions.

Look for solutions of the form $y(t) = e^{rt}$

$$r^2 + r - 2 = 0$$

$$(r+2)(r-1)$$

$$\Rightarrow r = -2, r = 1$$

so $y_1(t) = e^{-2t}$

$y_2(t) = e^t$

both solve ODE.

By linearity we see

$$y(t) = c_1 y_1(t) + c_2 y_2(t) \text{ solves}$$

the ODE for any c_1, c_2 .

To see "better" this is ALL

solutions we need to investigate further.

Linear independence & Wronskian.

Let f, g diff. on open interval,

define

$$W(f, g)(t) = \det \begin{vmatrix} f & g \\ f' & g' \end{vmatrix}$$

$$= f(g') - f'(g).$$

Recall f, g linear independent on I

if $\exists c_1 \in \mathbb{R}$

$$c_1 f + c_2 g = 0 \quad \text{on } I$$

$$\text{is } c_1 f(1) + c_2 g(1) = 0 \quad \text{on } I.$$

$$\frac{f^p}{p} = (f, g) \Leftrightarrow f + (f, g) = (f, g)$$

$$(f, g) \frac{f^p}{p} = (f, g) \Leftrightarrow \frac{f}{f} = \frac{g}{g}$$

$$g, f = g, f$$

$$(f, g) = 0 \Leftrightarrow$$

$$0 = f, f - f, f =$$

$$g, f - g, f = (f, g)$$

$$f, g = 0$$

$\overline{\text{proof}}$

It is linear I dependent on I

on I

$(f, g) = 0 \Leftrightarrow$

(17)

General second order linear homogeneous

Consider

$$y''(t) + p(t)y'(t) + q(t)y(t) = 0. \quad (1)$$

Claim. If y_1 & y_2 solve (1)

linearly independent then the general solution is

$$y(t) = c_1 y_1 + c_2 y_2.$$

Lemma. There is at most one solution of (1) with

$$y(0) = y_0 \quad \& \quad y'(0) = y_0' \in \mathbb{R}.$$

Proof of Lemma let $y_1 \leq y_2$

Solve (1) with stated initial

conditions.

$$\text{let } w(t) = w(y_1, y_2)(t)$$

$$= \det \begin{pmatrix} y_1 & y_2 \\ y_1' & y_2' \end{pmatrix}$$

$$= y_1 y_2' - y_1' y_2$$

Start

Here.

$$w'(t) = y_1' y_2' + y_1 y_2'' - y_1'' y_2 - y_1' y_2'$$

$$= y_1' y_2 - y_1'' y_2$$

$$= y_1 (y_2' - y_2'') + y_2 y_1'$$

we od E
mon

$$= p [w] =$$

So

$$w'(t) + p(t)w(t) = 0$$

$$w(0) = y_1 y_2' - y_1' y_2 \Big|_{t=0} = 0$$

Then we have $w(t) \equiv 0$ by 1st order ODE theory

$\Rightarrow \{y_2, y_1\}$ is linearly independent

so $\exists c$ s.t.

~~$c y_2 = c y_1$~~ but to satisfy

initial condition $\Rightarrow c = 1$

$$\Rightarrow y_2 = y_1$$

So at most one solution of initial value problem.

[2]

Proof of claim

let $\tilde{y}$ solve $C(\tilde{y})$, $\tilde{y} \in \mathcal{C}$

$\{y_1, y_2\}$ be linearly independent
 solution of (1).

Goal show $\exists C_0$

$$\tilde{y} = C_1 y_1 + C_2 y_2.$$

Consider the initial value problem

$$\begin{cases} y'' + p(t)y' + c(t)y = 0 \\ y(0) = \tilde{y}(0) \\ y'(0) = \tilde{y}'(0) \end{cases}$$

let $\tilde{y}$ find $C_1 \in \mathcal{C}_1$ and C_2

$$y = C_1 y_1 + C_2 y_2 \text{ solves (2)}$$

$$\Rightarrow w(y_1, y_2) / (0) \neq 0$$

$$+ \text{add } 0 \neq w(y_1, y_2) / (1) \neq 0$$

$$\Rightarrow w(t) \quad \cancel{w(t)}$$

Note since $\{y_1, y_2\}$ linearly independent

$$y_1(0) = c_1 y_1(0) + c_2 y_2(0)$$

$$\Rightarrow y_1(0) = c_1 y_1(0) + c_2 y_2(0)$$

But only thing to find is c_1, c_2

$$\Rightarrow y = c_1 y_1 + c_2 y_2$$

so by uniqueness of IVP

but of course y is also (2)

(22)

~~Given $\pm$ y_1, y_2 satisfy~~



$$\begin{pmatrix} y_1 \\ y_2 \end{pmatrix} = \begin{pmatrix} c_1 \\ c_2 \end{pmatrix} \begin{pmatrix} y_1 & y_2 \\ y_1 & y_2 \end{pmatrix} \Rightarrow \exists c \in \mathbb{R}$$

(23) $\Rightarrow \det \begin{pmatrix} y_1 & y_2 \\ y_1 & y_2 \end{pmatrix} \neq 0$

3.4 complex roots of characteristic eq.

$a \neq 0$

$$(1) \quad ay'' + by' + cy = 0$$

$$y(x) = e^{rx}$$

$$ar^2 + br + c = 0$$

$$r = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$$

- ① $b^2 - 4ac > 0$ (2 real roots)
- ② $b^2 - 4ac = 0$ (1 real root)
- ③ $b^2 - 4ac < 0$ 2 complex roots

$$e^{i\mu t} = \cos/\mu + i \sin/\mu$$

$$e^{i\mu t} = 1 + i$$

$$e^{i\mu t} =$$

$$e^{i\mu t} =$$

$$e^{i\mu t} = 1 + i$$

$$r = \pm i\mu$$

$$\lambda = -\frac{b}{2a}, \mu = \frac{\sqrt{4ac - b^2}}{2a}$$

$$= -\frac{b}{2a} + i \frac{\sqrt{4ac - b^2}}{2a}$$

$$(3) r = -\frac{b}{2a} + i \frac{\sqrt{b^2 - 4ac}}{2a}$$

$$y_1(t) = e^{\gamma t} \cos(\mu t) + e^{\gamma t} \sin(\mu t).$$

$$y_2(t) = e^{\gamma t} e^{-i(\mu t)} = e^{\gamma t} \cos(\mu t) - i e^{\gamma t} \sin(\mu t)$$

$$= e^{\gamma t} \left(\cos(\mu t) - i \sin(\mu t) \right)$$

$$= e^{\gamma t} \cos(\mu t) - i e^{\gamma t} \sin(\mu t).$$

Add them

$$y_1(t) + y_2(t) = 2 e^{\gamma t} \cos(\mu t).$$

take difference

$$y_1(t) - y_2(t) = 2 i e^{\gamma t} \sin(\mu t).$$

$$\text{set } y_1(t) = e^{\gamma t} \cos(\mu t)$$

$$y_2(t) = e^{\gamma t} \sin(\mu t).$$

Ex complex root case

3.2 Repeated Roots

$$y'(t) = c_1 y(t) + c_2 y(t+1)$$

So the general solution of (1)

$\{y_1, y_2\}$ Linearly independent;

$\{c_1, c_2\}$

Manually check y_1, y_2 solve (1)
(2)

$$y'' = y'' + 2y' + y = 0$$

$$y' + y = 0$$

known

$$y(1) = 1$$

look for second solution of form

$$y_2 = e^{rt}$$

$$r = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a} = \frac{-1 \pm \sqrt{1 - 4}}{2} = \frac{-1 \pm \sqrt{-3}}{2}$$

$$ar^2 + br + c = 0$$

$$ay'' + by' + cy = 0 \quad y = e^{rt}$$

3.5 repeated roots case

repeated

$$0 = a e^{i t} + [b e^{i t} + 2 a e^{i t}] e^{i t}$$

now in the new

but morally 1st order

Note this is a second order

$$0 = (a y_1) e^{i t} + [b y_1 + 2 a y_1] e^{i t}$$

we need

$$+ a 2 y_1 e^{i t} + a y_1 e^{i t} + b y_1 e^{i t}$$

$$= \overbrace{[a y_1 + b y_1 + c y_1]}^{0} e^{i t}$$

$$+ b (y_1 e^{i t} + y_1 e^{i t}) + c y_1 e^{i t}$$

$$= a [y_1 e^{i t} + 2 y_1 e^{i t} + y_1 e^{i t}]$$

$$0 = a y_1 + b y_1 + c y_1$$

we want

linearly independent.

clearly $\{y_1, y_2\} = \{e^{rt}, te^{rt}\}$

$y_2(t) = te^{rt}$ solves ODE $\frac{1}{t}$

Already known
this solves it.

$$= A te^{rt} + B e^{rt}$$

$$y(t) = y_1 = e^{rt} [A t + B]$$

$$\Rightarrow \boxed{y(t) = A t + B}$$

so

$$0 = y'' + \left(\frac{a}{b} - \frac{a}{b}\right) y' = y''$$

$$2r = -\frac{a}{b} \quad \text{so}$$

$$0 = y'' + \left(\frac{a}{b} + 2r\right) y'$$

[30]

$$y(t) = t e^t$$

$$\left. \begin{aligned} y'' - 2y' + y &= 0 \\ y(0) &= 0 \\ y'(1) &= 0 \end{aligned} \right\} \text{ solve IVP}$$

$$y_2(t) = t e^t$$

$$y_1(t) = e^t$$

$$y'' - 2y' + y = 0$$

$$r^2 - 2r + 1 = 0$$

$$(r-1)^2 = 0$$

Ex (perturbing two real zeros)

general solution

$$\text{so } y(t) = c_1 e^{rt} + c_2 t e^{rt}$$

[3]

$$1 \cdot \frac{1}{z} \leftarrow \left[\frac{z^7}{1 - z^2} \right] \frac{1}{z} =$$

$$\frac{1}{z} \cdot \frac{z}{1} - \frac{1}{z(1+z)} = \frac{z}{1} = (1+z)z$$

$$\frac{z}{1} = z \quad \frac{z}{1} = z \quad \frac{z}{1} = z \quad \frac{z}{1} = z$$

$$\frac{z}{1} = z \quad \frac{z}{1} = z \quad \frac{z}{1} = z \quad \frac{z}{1} = z$$

$$1 = (1+z)z \quad 0 = (1+z)z$$

$$0 = z(1+z) + z(1+z) - z$$

$$0 = z+1 + z(1+z) - z$$

$$0 = z+1 + z(1+z) - z$$

$$0 = (1+z)(1+z) - z$$

$$1 = (1+z)(1+z) - z$$